Squirrels Maths 
Year 2
Can you find the answers using mental calculations? Remember you can add the tens, add the ones and then put them together.
40 + 15 =
20 + 18 =
60 + 26 =
50 + 37 =
10 + 29 =
60 + 34 =
70 + 13 =
50 + 32 =
70 + 26 =
24 + 13 =
38 + 11=
24 + 35 =
45 + 24 =
32 + 34 =
21 + 36 =
22 + 17 =
41 + 33 =
56 + 23 =
13 + 13 =
14 + 45 =
37 + 12 =
25 + 32 =
23 + 16 =
52 + 24 =
23 + 14 =
44 + 13 =
22 + 56 =




Year 1 
Please visit the website link and complete Lesson 2 - Fact families - linking addition and subtraction (1)
You can find this under Summer Term – Week 3 (w/c 4th May) on
https://whiterosemaths.com/homelearning/year-1/

Children can watch the video and solve the questions.




























